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Rav Oh’shayoh said, ‘this is in accordance with Bais Shammai’

Overview

ROVWIXR 27 stated that only "2 maintain 2°93 nn*aw, but not 1""2, so therefore the Xn»12
of o»r™ follows the view of w"2. There is a dispute in Md01N how to interpret what
X" actually said and its relevance qwyn? 132:75.
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The n''1 says that the 71257 is like 5", who established the Xn>12 of 0" like

w''a, since X' agrees with him -
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And according to this (that the 11397 is like 7o 29, and the Xn»M2 of 0»m™ is
according to w'"2), it is permissible for water mills to grind on naw, if the wheat
was placed there before naw, for according to X" the '3 permit using 2°22, even

when they are actively doing something (in this case grinding) -
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And "1 is not concerned for ‘making noise’.

mooin disagrees with the n"-:
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And it appears to N1201n that X9 did not establish the Xn>72 of 017 like w"'2 -
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But rather the X72377 77071 said this, ‘the Xn>72 of o»n™ is according to w'3,

according to """ -
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Who established the 710°X of 2°11°1 because of 2392 nnsaw’ -
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However regarding X''9 we can say that he establishes the Xn»92 of o> like

'Tn our text the X07°3 in the X173 is 121 7" K21 R°7 w2 RNPTIRT 2290 NNP2W RIN JRA OK 27 K ROVYIR 27 KT ROWT.
2 Generally when 70v 271 721 argue the 719977 is like 7127 (except in three cases), therefore M90I1n needs to bring a proof
that in this case the 7397 is like *", since X" also agrees with him. This is according to '01n77 N0 that X" maintains
that the Xn*2 of 01" is according to w"2 (that is the meaning of X7 w"2 "1 K:).
3 See xn°9 a"nn [TIE by footnote # 5].
4 X" merely said that only ¥"2 maintains 2°73 nn°aw, but not 7"2. He did not comment on the Xn>>12 of D>,
5 The X317 1701 stated that now that we know that only w"a maintain 2> nn»aw, but not 7"3, therefore when >3 said
that the reason of 0°°n>1 is because of 2°2> nn°aw, it was not according to 7"2 (as the X3 originally assumed), since
"2 do not agree to 0°73 nn*aw, but rather it is according to w"2.
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7"2,% and X" agrees to 9 ny»w like 7127,7 and therefore o»n» is Mox like 72 -
- Y9N 17129 YNNY P NYNRYH DIVN BINT RNAYOT ININ 13539 PO 19

And the 11''1 also ruled that the reason of 211 is because of 1 ny»ws, and the
Xn»72 of @1 is according to 71''2 —

Mmoo offers an additional proof that the 7597 is like 729, not like *":
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And additionally the X973 later can only be established like ;7129 as I explained —

N190IN comments IWYN? 73907
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And we accept the ruling of 8"= that it is only @'2 who teaches 2°9> nnvaw —
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So therefore it is permitted to lend out utensils to a 151 and one need not be

concerned that the *v21 will do a 5728%% with them, since we do not hold of 2°3 nn*aw -
SNDIINT DY INNNA NNAYT IINYAY 9ION NNNa YaN

However, it is prohibited from lending out your animal to a 321, for one is

obligated n''7m that his animal should rest, and there is the concern that the ™31 will do
a mOR?1 with it on naw.

Summary
The n"7 ruled like °"9, so 2> is permitted; however 11" NvOIN rule like 727, so

0°°17°7 is MOXR because of 7P nvnwi, but one may lend out his utensils (but not his
animals) to 0°721, since there is no 2°22 nN°2w, only NAA2 NN,

Thinking it over

nvOIN seems to be saying that X°vwIX " agrees with 727.'° However from the X3 it
seems that according to 8" the w"2 maintains 0°%5 nn*aw whether it is TWY» 7°2vp or
wyn 7avp X?; however according to 1727; the w"a maintains 2°22 nn°aw only when
wyn 7avp, ! but when qwyn 72avp R, it is forbidden because of a 773!

61t is preferable to establish the Xn3977 X2°9% X072 like 7"2 rather RN3779 XOW W27 RIHR.
" See ‘Thinking it over’.
8 x,0. The X3 asks and answers why they were 7113 in some instances, but not in others; there is no mention of nnaw
fakie}
9 xm91 7"1in [TIE footnote # 10].
10 See footnote # 7.
1 See x> 7" 10 [TIE footnote # 14].
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